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ERRE

5 Wit Y5 B | PUSEEHRE | /T | &8/ |
1 = bt % 110
2 AL Rt A 20
3 FIHIDETFAK £4E XL £ 230
4 KT BH XL E 100
5 3 JTHBHA 150%200cm R 50
6 T AR 25%18cm A 312
7 H B W AR 2. 4wkl 4m G1S 100
8 U ES WAk 2.2X1.6m G113 601
9 T PR IR R WM 3.4X 1. 6m IR 924
10 WIRMLE Wk 50X 70cm ik 691
11 PR & 2%0. 15%0. 9cm 7K 10
12 PN s—xxxx1 % 456
13 [ AAR s—xxxx1 {4 400
14 KAl TAE R s—xxxx1 s 934
15 Kuhdr £k s—xxxx1 14 82
16 E Gl 2. 5kg/HK  90%200CM 73 19
17 JE A AR R s—xxxx1 1 947
18 yGXEa s—xxxx1 1 121
19 KA 2 A s—xxxx1 14 10
20 Eetinlis] 3. 5kg/FK  150%200CM 73 46
21 bR A SN 7t 150
22 P (B s—xxxx1 % 136
23 P (22 s—xxxx1 % 95
24 Pt g T 507
o PEER(E | WO ETE EAR+HIE Bk

3) ¥ E 31
26 Ry s—xxxx1 % 72
27 P A 20%30cm XZ7r, A hikE = 20
28 HNBIG 2kg/F&  150%2000M ik 15
%9 PR AR

xE s—xxxx1 = 69
30 NG 500%245cm g 15
31 Frts AKHE 40X 60cm A 866
32 EHHEWE WL 2.2X 1. 6m 7K 76
33 HYE =R WAL 2.5X 1. 6m R 87
3 | EHEME HAEAE 80X 50em 1S 88
35 KALT 3. 6m*2m 1S 90
36 R KA AR RZ 1. 8m*2. 3m 1S 200
37 KEAm XU 1. 5m1. 5m G1S 350
38 WA AZ 1. 2m1. 2m 7K 200




39 /IMAR 2 1. Om1. Om ik 70
40 BIT M 2 80cm*60cm ik 50
41 LT Z 1. Om*1. Om ik 30
1 FARM(CFAR

) xx1 7k 320
43 KH 2. 0mk2. 3m G1S 60
44 ZWAR frgah s 40
45 ZAYARE M G1S 30
46 AN T 1. 1%1. 2 ik 50
47 e kL AR R 60cm A 10
48 A ZITE 13%19cm A 83885
49 N 100%100 7k 200
50 B 78] MZ 70%75 ik 13
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